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1. OpenFOAM-ext~ DX it

<OpenFOAMD Bl >
IRIRZE K AR extend
$WM_PROJECT OpenFOAM foam
$WM_PROJECT VERSION 4.0 3.2

l
VersionDE& & A& 4.0 ext-3.2

TreeFoam_tlZ. L E2versionD{E CLIEZLZE T 5,



<ALIBDHI>

1174 # replacementDict

1175 #

1177
1178
1179
1188
1181
1182
1183
1184
1185
1186
1187
1188
1189
1198

OpenFOAM@D/A = a2 (CGUTZfluidBlDdict E{ERT 3
1176 def replacementDict(regName, field, patches, OFversion):

if OFversion[:3] == "ext":

cont = replacementDict171(field,
elif OFversion »>= "4.8":

cont = replacementDictd@@(field,
elif OFversion >= "2.3.8":

cont = replacementDict238(field,
elif OFversion »>= "2.2.9":

cont = replacementDict228(field,
elif OFversion >= "2.8.8":

cont = replacementDict2@8(field,
else:

cont = replacementDict171(field,
return cont

patches)
patches)
patches)
patches)
patches)

patches)
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2. FOCUS JOBEBE|Z[llogFxr] [FEHARRIRY VBN

r

@ — o0 FOCUS JobE¥ER

FOCUS JobEEEE
Jobd A,

job 7 7T ILEEIR, fEBLT. jobEEATS.
sbatchx# 723> (Fa1—4A, puElE) (3. GEALT. BRETETS.
Job File$

. | F1—: |6 | v |
|0F230Gcc_parallel.sh |I £@. .| —— S— BE
' ' nCPUs: |1 | nNodes:|1 || |
| JobilR&E | B : :
| | EL3E £ | JODBARLT. ..
J— FoiiREER TOMIVE
l freenodes | squeues | sinfo | | |I run |
S »
EBIILRY Y
JobRITHRDEEER
A JobERiA - | JobfELE
| squeue | | tail -f | plotWatcher |} | scancel |
JOBID PARTITION NAME USER ST TIME NODES NODELIST(REASON)
987311 c@@6m OF230Gcc R B:04 1 cod

lfnlderﬁﬁ{ | I.'Lnginﬁ'ﬁ'xﬁihj LS |
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<serverfll® lNogFca~ 1. [FATRZ] DFHI>

® -0 Wk

TP IL(F) #E(E) ®|T(V) B|FE(S) WFET) ~AJTF(H)
Time = 0.49

Courant Number mean: ©.222158 max: 0.852134
( Solving for Ux, Initial residual = 2.089588e-87, Final residual 2.089588e-087, No Iterations 8

DILUPBiCG: Solving for Uy, Initial residual = 4.59868e-87, Final residual 4.59868e-067, No Iterations 6
DICPCG: Solwving for p, Initial residual = 8.08884e-87, Final residual = 8.08884e-87, No Iterations ®
time step continuity errors : sum local = 9.1113e-89, glo = -2.69992e-19, cumulative = 3.88862e-18
DICPCG: Solwving for p, Initial residual = 9.46436e-087, Final residual = 9.46436e-087, No Iterations 8
time step continuity errors : sum local
ExecutionTime = 8.22 5 ClockTime = 8 s

8 — 0 Gnuplot

Time = B.495 Reziduals
1, Q000000
Courant Number mean: 8.222158 max: 0.8521
DILUPBiCG: Solwving for Ux, Initial resid
DILUPBiCG: Solwving for Uy, Initial resid
DICPCG: Solwving for p, Initial residual 0,1000000 -
time step continuity errors : sum local =
DICPCG: Sol p, Initial residual
errors : sum local 0, QL0000 |-
ExecutionTime = 8.22 5 ClockTime = 08 s
] = 8. E
Time = 0.5 2 0,0010000 |-
@
E
=
= 0,0001000 L.
=
0, 0000100
0, Q000010 -
00000001 i i i i i i i i i
] (05 0,1 0,15 0,2 0,25 0,3 0,35 0,4 (0,45 0,5
Time [=]

0,0852200,  8,86270e-06
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3. /NJHEY

FOCUSRE{%
-folderzf#tfrcaseE LTERE LB A7 A4V D EH 5,
-serverfll ~DELY {4 1 FBF, systemDclipBoard AN Z 7% Ly
-$HOME & T DfolderiZserverh mount TE ALY
-localffll Dfolderi& /ERF (BEY 417, caseBhYU T T, BEIZE
HIER) . serverfll =5t IC 1T7b\foLL\qU|ckReIoad’C&_fE
W HE % [NCPUs ] = nPs1ICIZIE  (17/02/27:858)

ZDfth
-r0otDiIrEy IV ) BENVT TV TTS
-OF-4.0F M changeDictionary H B HM RN,
-setFieIcsd)ﬁﬁtfcopy&pasteb“t%fo&?‘oko’cmto
-gnome- termmald)iﬁﬂoptlonf tI CESRE
-meshDscaleZBIFOEHBEREZFEIL  (17/02/27:85%)
‘mesh3 l:—lﬁd)case%l w4 %constant, system>7#JL4
DEETHEISERICIEIE (17/02/27385%)
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